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1. 9% ZaRT a9 e H T¥d AU 70 HF-a137 3eT F HUR W w9 fAf@a ader & e
FTHATIA fohar arar €1 i et a9 A el waen # e wfafte #r § ar Remee $ seen srifda
Fregan At v E ot ey srafiar sdisa & & ST

You have been called for the written test based on the online data furnished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. YA-UF, 80 WA § Ford WeA-GRAN FFTA Y IR wdewm 1 3raftr 90 fere ¥
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.

3. mmma@ﬁmm%mamﬁaﬁ@mwmﬁmmgwml

The questions will be objective type with four options out of which only one will be unambiguously correct.
4 S gt AT 01 3 g AR T T IecR F AT 033 3iF @rer s

Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.

FIAT SHT I55 SW/P.T.O.
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AR HE® - (3aiad) / Technical Assistant gElectronicsz

100 nF 3 200 nF #H & Q guifa 10V & DC aed #1d T J@en § 92 gu #) 100 nF @A T
et 7 7 ’

Two capacitors of value 100 nF and 200 nF are connected in series across a DC voltage source
of 10V. What is the voltage across the 100 nF capacitor?

\au‘ﬁl"a"
(@) 3.33V ® 5V \od 200 o eo
w9 BJT &aqfy &3 & gfera aan 2 g CrV L%J_Q},!L

When a BJT operates in saturation region

(2) QA whtmEl s sl 8 / both the junctions are reverse biased
(b) E-THR SiFE T afiE 2 3t NE weE S GiEd S / base - emitter junction 18

reverse biased and base collector junction is forward biased

() =u-UH SiavH 3w AT £ 3N Sg-Ferget Savd T AhEE @ / base - emitter junction 1s

forward biased and base - collector junction reverse biased

@) THI SHEE 3 3R AT 2 / both the junctions are forward biased

TEE A Hied fhE W en] Bt 27

The Ebers—Moll model is applicable to

(a) Toget Stewm 2Rt / bipolar junction transistors

(b) SHIE / Diodes

(c) MOSFETSs

(d) SEH &F-YNE I / junction field-effect transistors

Teh dIees TIEIBRR #, diees-Jadl hleas i Yo & qfommeass — @y 2
In a voltage amplifier, introduction of voltage-series feedback results in

(a) farfg it 3cares <1 ufd IR ?{% / increase in both input and output impedances
(b) frfw 3R Iearea gl wfdamenati § Ff / decrease in both input and output impedances
(c) Tty gfeemen o aﬁ; 3R Iaared ufgamn o it / increase in nput impedance and decrease in

output impedance

(d) Ffg wfamn § w3 3eared gfasnan 4 9fg / decrease in input impedance and increase in

output impedance

M‘ﬁ %ﬂ_n\,"a
3 S
1479
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£ amuth wET 1011 3tk 1010 %1 TOEE &
1010

Product of binary numbers 1011 and 1010 is

(a) 10111011 (b) 01101110

(¢) 10101011 (d) 01000010 LA J0 N —
j1o11 19

327 e 1 mfeNeT @ {15,6,10,12,3,8,20}
Give the median of the data set {15,6/,10, 12,I§,é,20}

(a) 12 (b) 10

(c) 8 (@ 11

qéﬁNﬁg@ﬁzFFTﬁmﬁﬁxdmem%%luﬁwm%ﬁﬁéwm(X,'D%
here (X,Y) is

ix 2 FFT has X no.of stages and Y no. of butterflies per stage W
(b)  (log;N, N/2)

An N point rad
(a) (2log,N, N/2)

(c) (logy(2N), N) (d  (Nlog,N, N/2)

T x + 3y —22=5, 3x + 9y 62 =12, x+5y + 22 =19 7 2l

The equation x+3y-2z=5, 3x+9y-62=12, x+5y+2z=9 has

(a) IS GUTUH &l / no solution \ T, 1
m 8
3 9 -

(b) TS HHTHEM / one solution

(c) < gugH / two solution

(d) 3ra den | gHaH / infinite number of solutions

Nwmw@m,aﬁ12.8mzﬁaﬁﬁwﬁqm%ﬂﬁmmwNﬁgFF’I‘%szﬁa‘rm

e 87

What will be the value of N,
12.8KHz gives resolution of 25Hz ?

if an N point FFT taken on a signal sampled at the rate of

(a) 256 () 512
(c) 128 d) 1024
4 1479
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10.

11

12.

13.

14.

e drrft Baw o W woneh o anp e am & P emim gem g 10

T 1 I R

Unit step input is applied to a system whose transfer function is ——ZL

output is
(@ 0 (b)
(¢ -2 (d)

HESIE

82 -55+6

. The steady state
§5°-bs+6

1.67
AYREE / unbounded

HAq T & W IHS AT G FY 39 TR qienfie e e 2

In continuous time domain unit impulse function is defined as

(@ x(t)=0,t=0: x()=1¢t=0 (b)
© x()=0,t=1; x(t)=1,t=1 (d)
TR9 1 Fm ot &

In a type 1 control system

(a) Teufa 3f¢ 08 / Position error is 0

(b) 9T AR 02 / Velocity error is 0

(c) T IR 08 / Acceleration erroris 0

(d) fesfq 3fe 3a & / Position error is infinity

afe sin( 9 ) =%2; dl tan DB

If sin( @) =%; then tan @ is

(a) THSM+1 / always +1 (b)
(c) 0.5 (d)
U% &9 a9 4 53 faan 29 i gwa 2
Probability that a leap year has 53 Sundays is
(a) 17 (b)
(c) 1/365 (d)
5

2{l)=0,t#0; J‘x(t)dt =1

x(t)=0,t<0;x(1)=1,t>0

V] e MI o DI
%\nz o ,L ‘L G |
2 \F‘L ’Z_
Loy
L 13 4 A
’3 L 25 + 9

ghem -1 / always —1

+1q1 -1 & Thal & / can be +1 or —1

53
2/7 3¢

1479
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15.

16.

17.

18.

cmmﬁ,aaﬂtblsﬁzaqﬁf%ﬁt{?rh?ﬁm&gmmmmm: IF 3R 40 8, 9% ~(any)
sgeEia QUi 79 &1 Sfawel g

In C language, if a and b are 16 bit unsigned integers having hexadecimal values 1F ang

40 respectively, the expression ~(a”b) will return the unsigned integer value

(a) FFAO (b) FFFF

(c) AOFF (d) 00AO

C ww #, afe k=8 B, @ =Th (k++ — k++) S|
In C language, if k = 8, the expression (k++ — k++) will return a value
(a O (b -1

(c) 8 d 9

FY4 ‘for (j = 5; j < 5; j++) %1 IR0 B

The statement ‘for (j = 5; j < 5; j++) results in

(a) UH g9 @ us & feufed feran s 2 / a loop that is executed once

(b) T 9m™I 8 g9 s Fsifea fan s/ 2 / a loop that is executed five times

(c) U 31d 99 / an infinite loop
(d) U 9™ Y frsaifed 8t g1 / a loop that is not executed

C ¥ int a[2]={2,3}, *c; FoHl % Fsarea & are frafafaa § @ =9 @ ad@ 72
In C, which of the following is true after execution of the statements
int a[2]={2.3}, *¢;

c=a;

(*o)--;

(a) a[0]=1HH 1 & / The value of a[0] will be 1

(b) a[0] T HME 2 &1 / The value of a[0] will be 2
(¢) cHHAHA 2 &1 / The value of ¢ will be 2
(d) ¢ 1T 1 8 / The value of ¢ will be 1

6 1479
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19. mmﬁwwmm3500hmsﬁ§%mmﬁaﬁmmﬁ&mmm§

20.

21.

:ﬁ%vmﬁ’;waﬂ%%q35001nnssrﬁrﬁua;m3¢mﬂ%_mmm%|mgaﬁsﬁﬁwm%%ﬂ
3.5 V amgfd 3‘1?7}71» &mmgamﬁwmmwﬁmwmm%

Q‘?:ei?x:gni b?dge 18 used to configure a 350 ohms strain gauge transducer in quarter
ridg guration with 350 ohms resistors used for the other three arms. The power

gonsumed and the dlffgl'exltial output voltage under unstrained condition when a 35 V supply
1s used to excite the bridge is

(a) 35mW3M /and 1.75 v (b) 35mW3M /and 0V
(0 17.5mW 3N /and 1.75 v (d 17.5mW 3N /and 0V

&t Aieed Oie § U gedhfier w 1.414 V Rrex s 3t 50 Hz smgft % ofonfis 3@ #1 94
ArgAad S A #1 98 1 TS fema|

A pure sinewave of 1.414 V peak amplitude and 50 Hz frequency at the output of a
transformer is applied to a multimeter in dc voltage mode. It will show a reading of Vo - b

(a 0V ®) 1V \» -y v
© 1414V ) 50V % 2

19 femme T e F R wd smseg A9 Vo w1 w9 &, 9@ Vi 10 V A fret & frew 7%
AEA 0T 2 3 Vref 3V 2|

Select the correct output waveform Vo for the circuit shown below when Vin is a sine wave of
10V peak-to-peak and Vrefis 3V.

—

O W

1479
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22. 7nF, 50 V 3R 14 nF, 100 V % @urf §9E1a 4 928U | 98 HA9E a1 2

23.

24.

25.

26.

217.

Two capacitors of 7 nF, 50 V and 14 nF, 100 V are connected in parallel. The combination

gives
(a) 21nF, 150V (b) 14 nF, 100V
(¢ 21nF, 100V (d 21nF, 50V

u FAfsha Syt St um aftads &1 iy T2 9g @

A passive device that opposes change of current is

(a) SMTE / Diode (b)  FUHA / Capacitor
() 3%/ Inductor (d) &=/ Switch
fafernia % ot d5 amt@ & deiy 2l

The band gap in Energy band diagram of Silicon is

(a) 2.0eV (b) 1.1eV

(¢) 0.7eV (d 1.5eV

UH TR Hael 0§ 20 KHz 3 100 KHz & 30 & smghedl & Faw &1 7@ & 21 .

2l
A circuit passes only inputs of frequencies from 0 to 20 KHz and those above 100 KHz. It is a
(a) T 9= et / Low-pass filter (b) 3= I fheet / High-pass filter

() de-T5is et / Band-stop filter (d) de-9r fheet / Band-pass filter

i gifsRet o 9T et qea: fhEeh HHor g 27

The current flow in an NPN transistor is primarily due to

(a) 3= / Electrons

(b) 8% /Holes
(c) 3IcHssh & T FHc9HEIS d18% / Minority carriers in Emitter region
(d) Felael § HTYR d d918d 3d:899 / Carrier injection from collector to base

& Al W 25 V rms ST @1 B @ TH 30 JTHGHT Fehsll W 100 V rms 30T B1 4 A rms &
iy arn o o fgdias 4w 61 rms 7w/ 27

An ideal transformer gives 100 V rms at secondary when 25 V rms is applied across primary.
What is the rms value of secondary current for a primary current of 4 A rms?

(a) 16A ® 1A

<
© 2A d 8A V\”\oc
va? fxf‘/
8 ;\o“/”\ 1479
TA
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28 Wy=x+lﬁﬁq‘(3§§y2=4xﬁmimg t(-"\
“

The line y = x + 1 is a tan .
gent to the curve y® = 4x at the point P
@ 2 B T
© -1 @ (@3 25
. P
29. foa d 9q{F ABCD %1 fser oy 27
What is the area of the quadrilateral ABCD in the figure? b
o
13cm e 'D
D . JA ~
12cm 5
3cm &t A
A \\ B
(a) 38 (b) 36
() 30 d 24

30. Prefafed fom #, Guifr www  sAafm 21 i (= 0W g 21 ¢ =1s W GUIE & FH A
dleed v 41 B ?

In the following figure, the capacitor is initially uncharged. The switch is closed at ¢ = 0. What
will be the approximate voltage v across the capacitor at ¢ =1s?

1kQ
— AN e
+
3V —— 1000uF —
(a) OV (b) 1.1V
d 2.6V

() 1.9V

31. ﬁg (2(1,4(1),(2(1 +av3, 5a) 3R (2(1,60) &l a>0 Th ﬁ{gﬁ &+ 3fiY 8| uy @
The points (2a,4a), (2(1 +av3, 50) and (2a,6a) where a >0 are the vertices of a triangle. The
sides are
(a) 4a, 5a,6a (b)  2a, av3, 2a

(©) 2a, a3, 6a (d)  2a, 2a,2a

1479
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32.

33.

34.

35.

36.

afe s sfafbar hifn] s he[n) % @@ @ Wk gma smfadn fren @t B @ 8 &

freaferfad 3 & ®17 @1 =ww 3w y[n) o @ z[n] @ R (x oM 1 sfafifae wwa & s -
FAacyA F1 Hfafifoe s )

If two linear time invariant systems with impulse response hl[n] and h2[n] are cascaded,

which _Of t.he following expressions gives the output z[n] for input y[n] (x represents
multiplication and * represents convolution)

(@  y[r)*Al{n]+ y[n]*h2[n] b)  ynl* (A1[n]* h2[n)) 1} oo |
o
© y[n]*‘ (h1[n]x A2[n)) (d)  y[r]x(h1[n]*h2[n]) ¥ ——
\\ 000
o\ 11\
5 f4¢ 21 T wen woreht &, af2 X = 00110 3 Y = 111102, @ X~ Y 2 _—————%
. ) G
In a 5 bit 2's complement number system, if X = 00110 and Y = 11110, then X - Y is 6\ 9
T\
(@ 11000 ®) 01000 o 110 =2
(¢) 00100 (d 11100 L
IR
{\ 9o 0
N\
oo |
Wﬁawéaﬁ%waﬁ@mwm@mm.%%lmcwﬁvﬁm% 3)
The SNR of an ADC with full scale sine wave input is 67.98. The resolution of ADCis { o ¢ O O
(a) 9fsed / 9bits (b) 10 feRH / 10 bits
(c) 11T&@@/ 11 bits (d 12 fe@/ 12 bits

=g @EA S1, S2 3 FYE A0, Al, A2, A3 ¥ @19 4 : 1 TR ¥ forr, S1 3t S2 % XNOR
g & fo Ieamed & fore fdwr &1 ge @@ g =nfgw?

For a 4:1 multiplexer with select lines S1, S2 and input A0, Al, A2, A3, what should be the
value of inputs for the output to be XNOR of S1 and S2

(a) A0=0A1=0A2=1A3=1 (b)  A0=0 Al=1 A2=1 A3=0
(©) A0=1A1=0A2=0 A3=1 (d) A0=1A1=0 A2=1 A3=0

3, 9
2t A ¥ 3Ch %1 WEvHAd H&AT &1 90T W w0 % fag, 8051%%?%maﬁgﬁé@rn]w
B =T ?

What should be the number n in the following code of 8051, to get as result, the hexadecimal
number a result of 3Ch in register A?

MOV A, # 27TH
MOV RO, A
XRL A, #n
XRL A, RO

(a) 27h (b) 63h
(c) 1Bh (d) 3Ch

10 1479
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9V H gftay
37 g AT AT wH Ao 40 O e wfFIH T 7.2V 24 2| Afz ww wfes # 80 QF

38.

39.

40.

aea fon A @ &e st gy

A cell with open circui p
cuit voltage of 9V gives 7.2V across a load resistor of 40 €. What will be the

load voltage if the load resistor 18 changed to 80 Q?
(a 7.2V (b) 76V
{.©0

© 8.0V
d) 84V

T & RLC #fbe § 1o sme Q=120 @t 21 af2 R, L 3 C % 9 S 2 fean o a1 I
FR 91 BN 7

A series RLC circuit has a quality factor Q=120. If the values of R, L and C are doubled what

will be the quality factor?
or fy = \L0 . @,
e -
(b) 84.86 £ Ay 2 :"i'“—— \

(a) 60
Gh;ii Lk
© 120 Al Lo @  169.68 ,LJ’T, |
> 1 ¢

1uC ¥ yRfy® =1 91! 100nF i & 10 ohm SFRu® &1 I9E w6 gured/aa few 6
STl 2| st ¥ Tread § Jifiwan g/ = 87

A 100nF capacitor having an initial charge of 1uC is discharged using a 10 ohm resistor. What

is the maximum current through the resistor? .
VIR NS

(a) 1uA (b) 1mA f

(¢0 10mA (d 1A

st 3wy <y fpu Mo ue fafereeia T H aEe fogl 6w @

The concentration of holes under equilibrium in a silicon sample doped with arsenic is

(a) S T ¥ gogeTd: gq’rgqfdﬁ / directly proportional to the doping concentration

b e 71 Wtﬂeﬂ / inversely proportional to the doping concentration
© - [ ¥ TSI gaTuTfdsh / directly proportional to the intrinsic concentration

(d) At THmd & sga;mgm’rﬁ / inversely proportional to the intrinsic concentration

11

1479
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41.
fég = g ?

ﬂﬁﬁ'@fa’ﬁwvmsvaaﬂtﬁ?hdqﬁ:a’@ﬁiwvé,Fh?ﬁ%fé@qnqﬁhzﬂmwﬂwwmﬂw

What will be upper trip point of the Schmitt trigger circuit shown below if the reference

voltage Vrer 1s 5V and output saturation voltage is +15V?

Ta
i =
. Vo>
Ko
(@) OV ®) 2.5V
() 5V (d) 10V
42. RC =1 AHd g 1= f2u T afwe &1 Sfervr e #4127
What is the transfer function of the circuit given below assuming RC = 7?
—WNT—VWYV 0
R R
Vis) ¢ — — < T Vo(s)
' -
- 0
1 1
a b T - N
@) (rs+1)(zs+1) () r2s* +3rs+1
1 3 i
@ BIsAs D e
L 1479
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43.

44.

45.

46.

47.

mﬁ;emmwm%m,aﬁmmmmﬁ(m)ﬁmmmﬁa
for ™

For skywave propagation with angle of incidence 0, Maximum Usable Frequency (MUF) is
defined as

(a) shifae 3113[% x cos (@) / Critical frequency x cos (6)

(b) waE AGR % cos (6) / Transmitted frequency x cos (9)

(¢) shifds® NIE[R‘I +¢o0s (@) / Critical frequency + cos (9)

(d) wara HEM + cos (0) / Transmitted frequency + cos (8)

T T h el faff wifte @ @it o 5a 2 1 A @l F W 500 W Rimet weR R
1 R 7

What is the Effective Radiated Power of an antenna with field gain of 2 when 500 W signal is
fed to 1t?

(a) 500W (b) 1000 W
(c) 1500 W (d 2000 W
FM 3ttt o fanigers stk @ weet 2 2

In an FM receiver the demodulator is typically preceded by

(a) §E 99 feEal/ Sine wave Rectifier
(b) 3 HifF / Amplitude limiter

(c) @dH H‘({éﬁ? / Slope detector

(d) er fa¥es® / Phase discriminator

frferfiga & & @ @ sfaf qafa & s 61 S Al fefee vea ofeseiem dem 27
Which of the following is a digital pulse modulation scheme used in space telemetry?

(a) PAM (b) PWM
(¢ PCM (d PPM

lMHzﬁmaﬁIGS%mﬁmaﬁmmmwmiﬁéﬁHHHTEF‘IT%?

What is the channel capacity of an  Additive White Gaussian Noise Channel having

bandwidth of 1 MHz and signal to noise ratio of 63?

Ls |+ 3 Fn
(a) 6 Mbps (b) 63 Mbps h CeP LL( ’.)
(¢) 64 Mbps (d) 12 Mbps L e
13 1479
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48. Wmﬁwmﬁhmmmmmmmm%?

49.

50.

51.

52.

A transistor in Common Emitter configuration can be used for

(a) YT ST / Current amplification (b) AT vk / Voltage amplification
¢ 9tk yadq / Power amplification (d)  37F @t / All the above

ﬁw%ﬁgaﬁﬁaﬂqmqmmop-ampmamqﬁ%?

Which of the following is not an attribute of an ideal Op-amp?

(a) 3Hd Ay yfyane / Infinite Input Impedance

(b) 3T T fyu 3T&fhd U / Infinite Common Mode Rejection Ratio
(© ¥ 3IdTteA yldarey / Zero Output Impedance

(d) 3Fa Hﬂﬁ 9Ty AR / Infinite Closed-loop Gain

ﬁ—mﬁéqga%%ﬁqﬁﬁgﬁném%
The impurity added to dope pure silicon to p-type is

(a) SRE / Boron (b)  UEAF / Antimony
(c) WIERRE / Phosphorous (d)  ®EF / Carbon

qmenﬁmawcw1oom3ﬁzﬁwwmaﬂz1,000°Cm600n1saﬁaﬁva$r3mém%|§aﬁ

Gaesfierar 2

A thermocouple gives 100 microvolt output at 0°C and 600 microvolt at 1,000°C. Its sensitivity

18

(a) 600 ATEshIETee Ifd °C / 600 microvolt per °C
(b) 0.5 "TEshiEee 9fd °C / 0.5 microvolt per °C
(c) 0.6 TTgshiaiee 9fd °C / 0.6 microvolt per °C
(d) 100 ATSsHIETE 9fd °C / 100 microvolt per °C

SE 3.3 V & Fa9 o 9 & @ 10Vhaﬁr@a‘r?{rﬁa3.33vnm%|mqyf&mﬁrmwﬁh

gerefar 2

A voltmeter of range 10 V measures 3.33 V when an in
referred to full-scale is

(@ 0.1% b)  0.03% 093 )00
© 0.3% . @ 1% >3
9 30 . (5'0
i g T
14
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53. wad [, x,¥,2) = Y m(l, 38, 7,11,15) 4 S d(0,2.5) ® 2@ gu, 78l m M1 @1 wfafifire 2

54.

55.

56.

7.

de?mmmwm%asm%uwr{m POS %if @n 27

iven the function ) X -
G. terms and d repr fw,x,y,2) = Xm(1,3,7,11,16) + ¥ d (0,2,5), where m represents the
min € presents don't care terms. What is the minimum POS form of f?

@ @+ +0+2) (b) (x+y)(x+¥)(y+2)w

© @+)z (d) (W' + y)2'

g(;ﬁl\%}lzeﬁﬁﬁwaé’ré, 50 ns A&l 6 0 3w FQ F o & 0 Y B T AEATAFAT
|

From a master clock of 80 MHz, to generate clock of 50 ns period we need at least ;.L.:”'“
(@ b5 fee #1383 / 5 bit counter (b)) 4afse &13¢T / 4 bit counter et %’
(¢) Hfe-4 fae F1¥X / mod-4 counter (d) Hig-8 i HEA / mod-8 counter
.80
T2 5°

1.6mzw®ﬂamﬁmww§ammﬁmmmg3ﬁ
3 Ksps ! Sfa=a & &1 39 w1 &1 @i screa 1 sgf @@ &rft ?

A pure sine wave signal of frequency 1.6 KHz is fed to a single channel data acquisition
system that uses sampling rate of 3 Ksps. What will be the frequency of the reconstructed

output?
(a O
(¢ 1.5KHz

b) 1.4 KHz
(d) 1.6KHz

g i Sreedl Ve % @ 944 58 MOSFET &1 28 -%gded Iguifash @
The trans-ronductance of an Enhancement mode MOSFET with threshold voltage V: 1s

proportional to
(a) VGS-Vi
(¢) VDS-V.

(b)  VGS/ V.
(d  VDS/ Vi

Brafafiag 9w wfady ard # 92 g 21 3@ feufd 1 R wfatues o wiith srvem srftreraw e 272

Following four resistances are connected in parallel. In which resistor is the power dissipation

maximum in this condition?
(a 1.1Q,1W

() 47Q,6W (d)

(b) 22Q2W
10Q, 10 W

15 1479
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58. WU yav® agug famma

59.

60.

The cascode amplifier is a multistage configuration of
(a) CC-CB (by CE-CB
() .CB-CC d CE-CC

000101 % 3 fidw ¥ R we-fz &y ¥ wmE D/A vhads @ sge Frid 0.5V 21 010100 %
Sfea ftn & fow v sanen fRutia =)

An analog output from a six-bit unipolar, zero offset D/A converter for a digital input of

Wiy ) e
000101 is 0.5V.Determine the analog output for a digital input of 01016(;.

(@ 05V b)) 1V Ny 2 Bt b
g \ !
0 15V @ 2V G.—i—f . % xgz@
S —
b}
0-1L= V0
8085 HTgshITAEL & foru, fr=fafaa som freafa
For 8085 microprocessor, the following program is executed.
MVI A, 04H;
Qo000 O] 00
MVI B, 04H; @ o ¢O o0y o0
T D e QX
LOOP1: ADD B; o0 ¢o000Q %
o 9 0Q {
DCR B; 0 000 tt10 = o}
JNZ LOOPI;
ADI 02H;
HLT;
FdFn & 3id o, gas § —— ffea 2
At the end of program, accumulator contains
(a) 10H (b) 11H
(c) 12H (d) 13H
16 1479
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6L, ﬁ4ﬂ34mﬁwﬁwmwgam%mﬁmW%nafnmﬁarq'u@AaﬂtB
&1 Wifirs T A 1011 3R 0010 B, 3 9 gem % a1g A 3 B 1 71 F01 & 7
If A & B are 4 bit r.ight. shift registers connected as shown in fig. and the initial values of A& B
read from left to right are 1011 & 0010 respectively, what will be the value of A & B after

3 clock pulses

< \
10 11) P—O‘—‘\'—\'——l—u \ \ L
yo\°
0ol 0
P —p >
Shift Reg A shift Reg B
4 A
" Clock
(a) A=1011 B=1011 ) A=1101 B=1001
() A=0111B=0110 (d) A=1011 B=1010

62. m%mmwﬂﬁuﬁawwﬁﬁnm%mﬂ%ﬁaﬁﬁﬁﬁ:m@@m%?

The output of a flipflop toggles at every rising edge of clock. Which of the following can be

true?
(a) I8 TFF 2 3R YL CACIES 2fet @ & / Itis a T FF and toggles irrespective of the

input

78 s D FF g fm@d m8cqe T Q/FE 4 91 8 /It is a D FF with output complement

Q/ connected to input
(¢ I@TW JK FF 2 3R gAl 39 I3 2 / Itis a JK FF and both inputs are zero

7z T JK FF 2 31 3992 J=1, k=08 / Itisa JKFF and the inputs are J=1, K=0

(b)

(d)

63, Wrew smur Freww & 10 fae 3 snur 3w T IAAE TOATE 24F 81 I THERR d GgEA & (T
forem foem sEem 7
The present count of a 10 bit binary up counter in hexadecimal representation is 24F. How
many bits will toggle to reach the next count?
(a) 3 (b)
(0 5 (d)

E 17 1479
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64. 2 R efiew e affe #, C1=0.1uF, C2= 0.01uF 3 L = 440uH 21 37 8f%z 7

65.

66.

3fa w9 & 93 ¢ §1 MHz 3 Qe ) angfa @@ gifi?

In the Colpitts oscillator circuit shown below, C1 = 0.1 uF, C2 = 0.01 uF and L = 440 uH.

Other circuit elements are chosen appropriately. What will be the frequency of oscillation in

MHz?
R’
mAVAYAY,
G
I
|
= L
(a) 2/n (b) 1/n
@ La @ g7

Fifis ©7 § FaHRd Soeh  FEred FR (e M) Bl @
In a critically damped system the damping factor (damping ratio) is

(@ O (b) 0.7

@ 1 (d) 1.414

Syrffaa § @ S @1 R Juell 1 T 1 Sd1 ]7?
Which of the following gives the transfer function of a system?

(a) IHIS AT AT T FRAT 97 / Fourier transform of unit impulse response
(b) TS AT HMRAT I ATAE gftadd / Laplace transform of unit impulse response
(c) FHTS GIuTHt 313%!11 H] GRAT ®97aW / Fourier transform of unit step response

(d) ¥H1E WA IFHEN A1 AT 9REd / Laplace transform of unit step response

18
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saprefta dq A b & R & o Rvier wen 2 o 27
The phenomenon responsible for guiding of light in optical fibers is

() fdgda / Diffraction

(b) WA / Dispersion

(€ O 3aR® WEdT / Total internal reflection
(d) WA / Scattering

LED w1 fufor amr=a: fred v wman 27

LEDs are generally fabricated from

(a) Y& 98 A9 JEEAS / Direct band gap semiconductors

(b) YN I A ETEF / Indirect band gap semiconductors
() 3t S ardurers / Heavily doped semiconductors

(d) Qﬂlg—m S#F / Metal-semiconductor junctions

07 wIererTe 1 3T Yhrha dgue! % fog fmar ST 2 FifH % o9 R

PIN photodiodes are used for optical detectors because they have
(a) 3= WM dieeal / high break-down voltage

M) F= FAuateedt / low forward voltage
(c) 3= f@fam ¥ / high switching speed
(d) fo=ga 3™ &7 / wide depletion region

a2 fediem dedieiad BIgsr s G ot it avfswta carar 2

The spectral efficiency of a Wavelength Division Multiplexed fiber optic communication
system 1s

(a) foe @t 3R 967 31U H1 TS / product of bit rate and channel spacing

(b) foe @ 3R I HAUA H1 UM / ratio of bit rate to channel spacing

(©) =a 3faUd IR foe & & 3gua = 2T / twice the ratio of channel spacing to bit rate
(d) foe g 3t 9 AR F1 3T / difference of bit rate and channel spacing

frtfefiaa & @ @ ifts 9w F R 3w 6 s Tl S T 2

Which of the following is not a technology used for terrestrial communication?

(a) GPS (b) GSM
(0 CDMA (d TDMA
1479
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72,

73.

74.

75.

Fr!ﬁms3+332+43+‘4=0§;mﬁ:@‘?%sm%mﬁmﬁmﬁﬂﬁmmgﬁfﬁqg?

What is the condition for all the roots of the equation s° + 3s® + 45+ A = 0 to be in the left haf

of s plane?
(a) A>12 ) -3<A<4
() 0<A<12 d A>4

ﬂﬁaﬁﬂ?mmWM‘m’%aﬁma@waﬁ%ﬁ‘n’(n>m)é§aa’§ﬁ$’3ﬁ‘"’“%’ﬁ‘ﬂ’ﬂ$
-t $i gE e s 2

If the open loop transfer function is a ratio of a numerator polynomial of degree ‘m’ and a

denominator polynomial of degree ‘n’ (n > m), then the integer n-m represents the number of

(a) W ﬁ@ / Breakaway points

(b) 3T ®eH / Poles of the transfer function
(c) et feig ot & 91 / Loops in the root loci
(d) 39 @i / Number of asymptotes

2
fETT Z(s) = 32’;1 e 2

& +1

The impedance Z(s) = represents

(a) 370U % HTY F@1 § Whed / Inductance in series with resistor

(b) IrEUYH 3R qUIiE & TY Al % W@ / Inductance in series with resistor and capacitor
(©) AUYS & G %[@Gﬂ 4 guifa / Capacitor in series with resistor

(d) @I % @y g@el § YWehed / Inductance in series with capacitor

firem % fer fufa e i sgd 91 % fow 3= ®9 & vy vhiens

A compensator exclusively used to improve steady state behaviour of a system

(a) I yfasr® / Lag compensator
(b) i FERT / Lead compensator

(c) o HHFRA 3R ofie FER a4 wf M FFER 4 YR S / Both lag compensator and

lead compensator will improve steady state behaviour

@ 3 @ T M T A ;e TS T w wwwn § guw wm ) Neither lag

compensator nor lead compensator will improve steady state behaviour
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76. @ﬁmﬁgﬁﬁmmwmmmamﬁﬁm3V3ma¢qﬁnoo}1z£im

=~
-3

79.

80.

it et H R1 T Womah A ) wgd fa fraw s 1V i st 300 Ha w S R, @
U& 9% U @ )

A CRO displays a sine wave of amplitude 3 V and frequency 100 Hz in three vertical divisions

and three horizontal divisions per cycle. When the input amplitude is made 1 V and frequency

300 Hz without changing the CRO settings, one cycle occupies

(@) T FER N N A R / One vertical and nine horizontal division

() T FE AR A A s / One vertical and three horizontal divisions /
(@ @ a3k A form / Three vertical and one horizontal divisions

(d) T FEI AN TF &R R / One vertical and one horizontal division

& fopfa st wafea 7 & Ry fRw = 3 gftafdd +tar 21

A strain gauge sensing element converts strain input to

(a) e frim g Voltage output (b) o ftm / Current output

(c) wfea ffm / Resistance output (d) it fim / Capacitance output

%mﬁﬁﬁamqﬁnmﬁaﬁ%@ﬁaﬂtm%mﬁmﬁrﬁaﬁﬁﬁﬁmmmwﬁmﬁmw%?

Which of the following instruments is used to view and measure the various frequency
contents 1n a signal?

(a) oA Jf4F / Function generator (b) @a‘;’qﬁ@w / Spectrum Analyzer
(c) Tt fa=3w® / Logic Analyzer (d) HedHi / Multimeter

frafeafiga § @ 9 @ gfogmd @ B 3cos (400 nt) 1 3Fad gAfmtor giiféa waf?

Which among the following sampling rates will ensure proper reconstruction of the signal 3cos
(400 =t)?

(a) 100 sps (b) 200 sps
(¢) 1000 sps (d) 390 ¥ & H1$ T&T / none of the above

frafefiga § @ 917 @1 g3cs a7 91 F forn we® st vy foan st 22

Which of the following sensor is most commonly used for measurement of current?

(a) WIgER-H(R% Haeah/ Fiber-optic sensor

(b) TEHBH / Microphone

(c) @ 3% Hagsh / Hall effect sensor

(d) We= sfada fawda af@d® / Linear Variable Differential Transformer
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= w7 & Rw = / Space for rough work

E
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